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Which of the following expressions is equal to 0 for
some value of x ?

A) |x-1]-1
B) |x+1]+1
©) [1-x]+1
D) [x-1]+1
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Two different points on a number line are both
3 units from the point with coordinate 4. The
solution to which of the following equations gives the

coordinates of both points?
A) |x+4]=3
B) |x-4|=3
©) |x+3]=4

D) |x-3|=4
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For what value of n is [n—1| +1 equal to 0 7

A o
B) 1
o 2

D) There is no such value of n.
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Let x and y be numbers such that —y < x < y.
Which of the following must be true?

Ljxl<y
1L x>0
L y>0

A) Tonly

B) IandIlonly

C) TandIITonly

D) LILand Il




